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(9 This quesion paper is cvided ino fve secions A, B G D 04 &
(ii) This question paper contains 35 questions. All questions 2re compulsory-
(i) In Secton A - Question No. 1 to 18 are Mutiple CROICe
IMCT) iic: Gusstions canves = mark aoch IS

(iv) In Section B - Question No. 19 to 25 are very Short Answer (VSA) veS

questions carrying 2 marks each.
(v) In Section C - Question No. 26 o 30 are Short Answer (SA) YP® questions

carrying 3 marks each. :
(vi) In Section D - Question No., 31 to 33 are Long Answer (LA) type questions
carrying 5 marks each.

(vii) In Section E _Question No. 34 and 35 are Case Based questioijls carrying 4

marks each.
provided in

20 internal choice has been
Section D

(viii)There is no overall choice. However,
Section C, all guestions in

two questions in Section B, two guestions in

and two guestions in Section E.

(ix) Use of calculators is not allowed.
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3. Magne .uc sumepﬁmnw of diamagném substance
- (a) Small & negative
. (¢) Large and positive
4. Which phenomenon illustrates particle nature' of light waves?
(a) Interference (b) Diffraction
(©) Polarization (d) None of these

5. Which of the following has highest frequency?

~ (b) small & positive
(d) none of these

(a) X-rays {b) Long radio waves
(c) Ultraviolet rays (d) Gamma rays
6. The ratio of the intensities of two light waves is 16:9.The ratio of maximum and

minimum Intensities in their interference pattern will
(a) 49:3 (b)49:1 (c) 25:7

7. The least distance of distinct vision for a normal human eye is
{c) 1 Dioptre (d) None of these

(d) 256:81

(a) 25 cm (b) 54 cm
8. Prism works on the principle of
(a) Reflection : (b) Refraction,
(d) Diffraction

(c) Dispersion

9. In the following nuclear reaction, what is X7

ST ,He*
(a) 92 (c) 90 (d) 4
10. Two light waves of equal amplitude and wavelength are superimposed. The
amplitude of the resultant wave will be maximum when the phase difference

gzuzBE -

(b) 2

between them is

(a) Zero (d) m/4

(b) = /2 (c} =
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11. The de-B
roglie wav mome -
elength associated with a particle of M0 “wm.' P £

(@) L
ph (b} hip (0 b (d) None of these

12. At
absolute zero, Germanium act as |
(b) Metal '

{3) Insulator
() Seml—cﬂnduc‘t;’-‘ir

{c) Non-metal

3

3. The energy gap is maximum in
(a) Superconductor

(b) Metal

c) Non-
(c) Non-metal (d) Semi-condu ctcll'

14 i

. In gliass, the velocity of light is minimum for .

£ (a) Red (b) Violet (c) Yellow @ E:-G'ean
or Question 15 to 18 two statements are given

One labelled as Assertion (A) and the other labelled as Reason (F)- Select the

correct answer to these guestions from the codes

I:IE:L {t‘}:'{c) and {GJ are given below:
(g) If both assertion and reason are true and reason is the correct exF"ana‘:“:’" of

assertion. ]
is not the correct explanation

(b) If bdth assertion and reason are true but reason

of assertlon.

fc; if assertion is true but reason is false.

d) I¥ both assertion and reason are False.
osite direction

Assertion: In & uniform Electric Field, electrons move in the opp

-

W

of Electric Field.
cause of the negative charge of an electron.

5 conductor cannot he transferred 10 another

Reason: This is be
16 Assertion: The whole charge of

isolated conductor.
e from one to another is not possible.

)j;/.Beason: The total transfer of charg
17 Assertion: Total flux though 2 closed surface is zero if net charge enclosed by

the surface is Zero.
<< Law is true for any closed Surface, no matter what 1s shape

Reason: Gauss

or size.
experiment, all fringes are of equal width
on wavelength of light (}) used, d13tance

c double sill

CC]

18. Assertion: [n your
100

Reason: The fringe width depends upo
of screen from piane of slits (D) and slits separation (d).
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SECTION-B (VERY SHORT ANSWER TYPE QUEBT!

; ks,
19, The force of attraction i:::g:a;ﬂ::;?::;:?;::ed particle and & neqativel‘f
=y charged particle is F, when distance between them is made one Bt
will be the value of this force?
: OR
~Afihat are the number of electrons in 1 u C?
20, | Expla[n_:tha significance of negative energy of an electron in an orbit?

< Et .
¥ 21. A circular coil of radius r carrying current |, What is magnetic field at the

centre of circular coil?
22. Draw the phasor diagram for a.c. circuit containing capacitor only.
23! State two properties of Electromagnetic waves.
—24. Define power of a lens and give its 5.1 unit.
25, What will be de-Broglie wavelength associated with an electron moving under
100V potential difference?
OR

" v i
v How will be photoelectric current change on decreasing the wavelength of
?--n-

incident radiation for a given photosensitive material?

SECTION-C (SHORT ANSWER TYPE QUESTIONS)
Each question carries 3 marks.

(26. State and prove Ampere's Circuital law.
OR

State and explain Biot Savart Law.

27. Draw a graph showing effect of frequency of incident radiation on stopping

potential.

¢ 28. Define mass defect and nuclear Binding Energy for a nucleus P, write the

o

value of mass defect and nuclear Binding Energy.

29 What are the drawbacks and limitations of Bohr's atomic Model?
29.

30. Explain dicde &S 2 full wave rectifier.

OR

¢ i L £ ¥ 1
£ Explain the formation of p-n junction.
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:::. I . . el -

:.__-_ﬂ; m II"I- expression for force per unit length W mpﬂww ,I-Hl._._. " i:
carrying conductors and hence define one HW. How paraliel 'ndai'lﬁ'
parallel currents behave? 13 I

OR
~Explain Domain Theory of ferromagnetism. How ferromagnetism depends uPOT

temperature?
33. Explain the working of reflection telescope by drawing diagram-
. OR y

What is total internal reflection? Explain it with tWo examples.

Section-E (CASE STUDY QUESTIONS)

Each question carries 4 marks.
rrent through it
any direction. When t_he cur

its conduction electrons
rent flows

but now

34. When a conductor does nol have.a cu

move randomly, with no net motion: in
actually still move randomly,

through the conductor, these electrons
The drift speed is very less as

they tend to drift with the drift speed vd,

compared 10 speeds in random thermal motion.

wing questions based on abovel

ent | flows through a metaliic gonduct
ne end to the other, the drift velocity

Answer the follo
(a) A steady curr

Section (A) Increa

or whose area of cross-

ses continuously from ©
a function of A will BB i

of free electron (vd) as
‘hen what is the relation between electric field(E) and

(b) For Ohms law is obeyed

drift velocity (vd)?

urrent flows in @ conductor, what is the order of magnitude of drift

(c) When & C

velocity of glectrons through 17

(d) Two nichrome  WIres of equal lengths but having radii in the rafiol:3 are

in series across an electric cell. The drift velocities of free electrons

connected
Il be in the ratlo O

through them wi
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OR
Wha} is the path of electrons (I) in the absence (Il) in the presence Of electic
field? : SR
35. A galvanometer is a device which is used to detect presence of current in 2

conductor. But it cannot be used directly as an ammeter. It has a very large
resistance. If connected in series like an ammeter, it affects the value of current
in a circuit. But .it can be converted into an ammeter. Similarly, @ galvanometer
can be used as a voltmeter also. In both cases, a shunt resistance is

. connected with the galvanometer,

Answer the fuilowling gquestions based on the above:

(a) To convert a galvanometer of resistance Rs into voltmeter a shunt resistance
R is connected....
_ (b) To convert a galvanometer of resistance R into ammeter a shunt resistance

R is connected....... -

(c) Why is galvanometer not used directly as ammeter?
of resistance 120Q shows full scale deflection for

(d) A galvanometer with coil
-7 5A. Find the

current of 2.5 mA. To convert it into ammeter of range 0

value of shunt resistance.
Or
What is the reading of current measured by ammeter?
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